SECTION 3-6: THE CHAIN RULE

1. Recall Two Versions of the Chain Rule
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3. Find the derivatives for each function below:
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4. (Some additional independent practice) Find the derivatives.
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6. Use the table below to evaluate the derivatives of the given functions at the indicated value.
z || f(@) | fi(2) | g(x) | g'(2) (@) h(z) = f(g(x))  ata=2.
12 [L o1 W04 G6)4(); h/&) A (ae) 9 @)= F i) 252
o T e =11z ®) k() =§6)9(¢) ata =1

K'G0) =860+ 96) + £6) - 968) (2x)
K (D= £ q(D+£0) g'0) D= (-D(D+ (D)
=6+8 =14

2 3-6 Chain Rule



@ +e/j

() h(x) =sin(z* — ——
)

f- )
= "CXZ— (x2+7<3,>
/ 2 =) A 2 \
h (70¢ CDS<)( — (xz+x3> .;\’C)l(_ [)( ’CX +><>]
= Coséxz—ﬁ)ﬁ'?‘)—') '(2)( —»(—D(xﬁ»ﬁz-&f{; (ﬁ#x))
= co§< x - (x"lx% (ZX-P sz+>5?ZZX+D> 7

This was ouranSwer.
T+ s Correc;/.

Do Jou see +the differencw httween
Yhe corredt answer ( sboue) and Fhe I—Y)(,orn:c;/' ansioer

b.e/[ ol 7 ¢ v S
—) -
/(%)= CoS ( X~ (%) > (Z x ~ED(xF) (ZX+ )>

Lock ot +he cpamnH‘ﬂ—&LS .
/h -:L}f\L '/’bt)() &XPMSSM’PLX [Cameoﬁv‘ 7hc,aw¢c:/'>
Cormnpa e what He derm ”Zx.)-[“ /S

W"L’P lred 193



